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CSIFFFERTY 552510 Test 1 Reading Passage 2 852280

5
B Food production has kept pace with soaring populations mainly because of the

expansion of artificial irrigation systems that make possible the growth of 40% of the world’s food.

. Feeding increasing populations is possible due primarily to improved irrigation systems.

increasing=soaring; due to=because of; primarily=mainly; improved=expansion.

E&TH B

SIFFFERTY 55511 Test 2 Reading Passage 3 53481

=
J5 7 Interesting facts regarding transport were found: 95% was on foot; 80% was within the

locality; and 70% was related to the collection of water and firewood and travelling to

grinding mills.

#1 : The survey concluded that one-fifth or 20% of the household transport requirement as

outside the local area.

49
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CSIRFTERTY $4277 Test 2 Reading Passage 1 #5155

Z: In a land swept by typhoons and shaken by earthquakes, how have Japan’s tallest and
seemingly flimsiest old buildings—500 or so wooden pagodas—remained standing for
centuries? Records show that only two have collapsed during the past 1400 years.

1 Only two Japanese pagodas have collapsed in 1400 years,

= YIS

3 %EE%?&%E%E%\E%EE%E?EP%:@ER&Ei@rxx'o_?gf'%z'?%;*”:ﬁ%ﬂhE’\JJapan’S
pagodas. ZFAFHXSE .

CSIMFFRBSY H44TT Test 2 Reading Passage 1 £5955

The float process for making flat glass was invented by Alistair Pilkington. This process
allows the manufacture of clear, tinted and coated glass for buildings, and clear and
tinted glass for vehicles. Pilkington had been experimenting with improving the melting
process, and in 1952 he had the idea of using a bed of molten metal to form the flat glass,
eliminating altogether the need for rollers within the float bath. The metal had to melt at
a temperature less than the hardening point of glass (about 600°C), but could not hoil
at a temperature below the temperature of the molten glass (about 1500°C). The best

metal for the job was tin.
The metal used in the float process had to have specific Pproperties.
=2 TRUE
EREEEEE4 WG H Hispecific properties (4214) XNAILE R B S% SR ED
RERAERIRMBLE. B Ltin (%) ZMEBRIES, BY ERE %A
E_AMFERNEYE. F Y 4 T2 1 80 B B float process, REBIZERMEA. B
MEBMNIXES, 24 BE@isgE REFEAT, B F TXEEHER. 5%,
EREXMGHAE X, g T specific properties £ /& 5 TEARI, Rjayse hkert
¥, %4 BHENOT GIVEN,
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| BB 1, general, from 365m above the ground and higher, the entire country is blanketed by %
y controlled airspace. In certain areas, mainly near airports, controlled airspace extends f
down to 215m above the ground... l
- GE& ..Uncontrolled air space is designated Class F... |
#E: Class F airspace is airspace which is below 365m and not near airports. f
%% TRUE f
W BEEMHEE P Keywords: Class FFI365m, SRTELAREMEA G R ;
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CEIFFEESY 25T Test 1 Reading Passage 2 55218

> b \
[ Bx: _h‘hh“h*‘“h‘~%‘—5‘\g

B Rudimentary air traffic contro] (ATC) existed well before the Grand Canyon disaster.

FLE  Air Traffic Control started after the Grand Canyon crash in 1956.
ZZ=: FALSE
_ Zm: BH FFafter—-iE?ﬂEDEljcCPbeforeWEE/iXiﬁlo




«ﬁﬂifﬂ‘?ﬁun $E25TT Test 1 Reading Passage 2 =5,

i

A At the height of the Roman Empire, nice m3ajor syséems, with an innovative layout of
pipes and well-built sewers, supplied the OcCcupants of Rome with as much as water per person as
is provided in many parts of the industria] world today

- Water use per person is higher in the industrial world than it w 25 10 Ancient Rome.

= No
=5 &H Hhigher—3igHy ﬁx EP as much abffij R XiE.

CSfFFE =8 FE96 T Test 4 Readlng Passage 2 £20=

...biological control, 1nv01v1ng the selective use of fatural enemies of the pest
population. .

U= Biological control entails using synthetie chemicals o T and change the genetic make-

up of the pests’ offspring.
NO

FOL IR B 4 4 S R R Ehp R ==
HHF) 232 Msynthetic chemicals (A Tfp2=
F e BFnatural enemiesFsynthetic chemlcaT

?rxﬁ:)ZEiX?a B’J;é,\o

L32 Fpesticides (3%
#@ ZHERATLL
XK TR

SIFHRETY SE76T Test 3 Reading Passage 3 2858

L Those confined to particular geographical areas, such a< countries bordering the Medlterranean
or the Nordic countries therefore had to be discarded.

Economic Community.
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—EMIGERAANXABEEZER. RAHRBRXL, REREAESH, FHENGE—
MEZNNZEAE, —2RSE4BAMIAANGRERXHRAKTE . EEXFENGEBERX
AR B L, BERETBONEER. AR ZXHFEBNGERE: “RIEFRXILAHE, =
A E#R R R —FRAREME” .

HX, SIFBBERTHONGEE REH TEMGARN. (BMATRAFITENEINHE
M, ENGEBERIT EERB—LEMIEA, FBHZBRIR)

BEBERAFRSENESREEERE (K|
1  ZEE{RZIFW: government, country, doctor, 50% &

scientist, capitalZ)

- BEPHANXEAREFRE (W: X "o £
Zmore thanZs) i

BN1: SJEGERGFTSRENEGERRECRERL (KRE2EMZRIFAM: government, country,

doctor, scientist, capitalZ) o
E&TH A

SIFFFEZRTY 55251 Test 1 Reading Passage 2 552621

| R ZHmEs

. In the future, governments should maintain ownership of water infrastructures.

i
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Z=22- NOT GIVEN
Eh AAZEEEXEE—H, AURIRFENNENSRE—KISHK, EXELSEEL

M idgovernmentiX M E{AZH, BEL FEBEEMEE LI
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SIIFFERTY F55171 Test 2 Reading Passage 3 55358




BEHRAS ,

T Hm L
MIRTP hoped to improve the movement of goods from Maket= district to the country’s
capital.

. NOT GIVEN

S BLE—#H, £xX08FEWidcapital (BHH) XHEEZE.

CEIFFFEE8Y 59170 Test 4 Reading Passage | $5855

B Lower secondary schools in Japan cover three school years, from the seventh grade (age

13) to the ninth grade (age 15). Virtually all pupils at this stage attend state schools: only 3 per

cent are in the private sector. Schools are usually modern in design. set well back from the road
and spacious inside.

L. Private schools in Japan are more modern and spacious than state-run lower secondary

schools.

NOT GIVEN
1 B R E private schoolsHl/5 Fl HJstate-run lower secondary schools B ST EH2%] T : =
X B #EEImodern and spacious. {8281 H HEIHY L3 Rmore than, EXHREIET.

CSIFFFERTY $4270 Test 2 Reading Passage 1 #3557

SE1E%: .. Yet it left the magnificent five-storey pagoda at the Toji temple in nearby Kyoto

unscathed, though it leveled a number of buildings in the neighbourhood.

$62E%: ... It was only thirty years ago that the building industry felt confident enough to erect

office blocks of steel and reinforced concrete that had more than a dozen floors.
~ . The other buildings near the Toji pagoda had been built in the last 30 years.

%2 NOT GIVEN
K I B A R, B SR
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CSAFFEB6Y 55487 Test 2 Reading Passage 3

READING PASSAGE 3

You should spend about 20 minutes on Questions 27-4

Numeration

0 which are based on Reading Passage 3 below.

One of the first great intellectual feats of a young child is learning how to talk, closely followed by

learning how to count. From earliest childhood we are so bound up with our system of numeration that

it is a feat of imagination to consider the problems faced by early humans who had not yet developed

this facility. Careful consideration of our system of numeration leads to the conviction that, rather than

being a facility that comes naturally to a person, it is one of the great and remarkable achievements of the

human race.
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It is impossible to learn the sequence of events that led to our devel

OT‘
carliest of tribes had a system of numeration that, if not advanced. wa

had to perform. Our ancestors had little use for actual numbers:

n

been more of the kind Is this enough? rather than How many? when thes

for example. However, when early humans first began to reflect on the n

discovered that they needed an idea of number simply to keep their thought

settle, grow plants and herd animals, the need for a sophisticated numbe
never be known how and when this numeration ability developed. b

developed by the time humans had formed even semipermanent settler

Evidence of early stages of arithmetic and numeration can be readily

Tasmania were only able to count one, two, many, those of South Afric

two twos, two twos and one, and so on. But in real situations the numb

by gestures to help resolve any confusion. For example, when using e
the word many would mean, Look of my hands and see how many 7
approach is limited in the range of numbers that it can express, but this =

dealing with the simpler aspects of human existence.

The lack of ability of some cultures to deal with large numbers is not really

when traced back to their earlier version, are very poor in number w

Gothic word for ten, tachund, is used to express the number 100

l century, the word teon had become interchangeable with the tachund or hund of

arage DS
average p

and so 100 was denoted as hund teontig, or ten times ten. The

Europe was not as familiar with numbers as we are today. In fact, to qualify

man had to be able to count to nine!

Perhaps the most fundamental step in developing a sense of number is ¢

see that a number is really an abstract idea instead of a simple att

It must have been within the grasp of the earliest humans to

concat

conceiv

M'ﬂ.}

birds; however, it is not an elementary step to associate the nun

number 4, as connected with four rocks. Associating a number as on

a great hindrance to the development of a true number sense. \

mind as a specific word, independent of the object being referenced.

IS

step toward the development of a notational system for number

Traces of the very first stages in the development of numeration can

today. The numeration system of the Tsimshian language in British C
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words for numbers according to the class of the item being counted: for counting flat objects and animals,
for round objects and time, for people, for long objects and trees, for canoes, for measures, and for counting
when no particular object is being numerated. It seems that the last is a later development while the first
six groups show the relics of an older system. This diversity of number names can also be found in some

widely used languages such as Japanese.

Intermixed with the development of a number sense is the development of an ability to count. Counting is
not directly related to the formation of a number concept because it is possible to count by matching the
items being counted against a group of pebbles, grains of corn, or the counter’s fingers. These aids would
have been indispensable to very early people who would have found the process impossible without some
form of mechanical aid. Such aids, while different, are still used even by the most educated in today’s
society due to their convenience. All counting ultimately involves reference to something other than the
things being counted. At first it may have been grains or pebbles but now it is a memorised sequence of

words that happen to be the names of the numbers.

Questions 32-40
Do the following statements agree with the information given in Reading Passage 37

In boxes 32-40 on your answer sheet, write

TRUE if the statement agrees with the information
FALSE if the statement contradicts the information
NOT GIVEN if there is no information on this

32 For the earliest tribes, the concept of sufficiency was more important than the concept of quantity.
33 Indigenous Tasmanians used only four terms to indicate numbers of objects.

34 Some peoples with simple number systems use body language to prevent misunderstanding of

expressions of number.
35 All cultures have been able to express large numbers clearly.
36 The word “thousand” has Anglo-Saxon origins.
37 In general, people in seventh-century Europe had poor counting ability.
38 In the Tsimshian language, the number for long objects and canoes is expressed with the same word.
39 The Tsimshian language contains both older and newer systems of counting.

40 Early peoples found it easier to count by using their fingers rather than a group of pebbles.

The end
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&22: TRUE (T2)

SHRZJE S —ER I Even the earliest of tribes had a system of numeration that, if not ;

i
advanced, was sufficient for the tasks that they had to perform. Our ancestors had little use r

ers; instead their considerations would have been more of the kind Is his
enough? rather than How many? j

s 2= FALSE (F1)

IR B & = E&rh: The indigenous peoples of Tasmania were only able to count one, '

two, many... i
ESCH: one, two, many 35 ; FHE 245 ?

%22 TRUE (T2)
TR B =E&mh: But in real situations the number and words are often accompanied by
gestures to help resolve any confusion. g E HiSome peoples with simple number systems i
Eﬁrzr_ ) B |
#22: FALSE (F1)

SR BT EPUEsH : The lack of ability of some cultures to deal with large numbers is ‘
not really surprising.
allFlsome I & X o !
%22 NOT GIVEN (NG1)

SRR XEMEH, “thousand” X MEMEREXEGFRE.
%322 TRUE (T2) y

XY R 28 EQEX‘:FWE/\’T? The average person in the seventh century in Europe was |

ers as we are today. In fact, to qualify as a witness in a court of

law a man had to be

s22: FALSE (F1)

ine! |

TR B E <t The numeration system of the Tsimshian language in British
Columbia contains seven distinct sets of words for numbers according to the class of the |

[
item being counted: for counting flat objects and animals, for round objects and time, for |

people, for long objects and trees, for canoes, for measures, and for counting when no 3
|

particular object is being numerated.

J?\qudistinﬁ (REM, BEXHIH) MEE Hsame/IR Xo
#22: TRUE (T2)

|

|
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R BT < EE It seems that the last is a later development while the first six groups |
show the relics of an older system; FJEX _E—HA] 1R B The Tsimshian languageo
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&% NOT GIVEN (NG2)
NN EXEHBF: Counting is not directly related to the formation of a number

40 concept because it is possible to count by matching the items being counted against a

group of pebbles, grains of corn, or the counter’s fingers.

B & B using fingersFpebbleshl L o

T1: TRUEBE1MGHEL: BORXHE
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73: TRUEEE3Fpap@ RN THELBAFU3H
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<&l HEE4Y 551870 Test 1 Reading Passage 1

The @gin
READING PASSAGE 1

You should spend about 20 minutes on Questions 1-14 which are based on Reading Passage I below.

Adults and children are frequently confronted with statements about the alarming rate of loss of
tropical rainforests. For example, one graphic illustration to which children might readily relate is the
estimate that rainforests are being destroyed at a rate equivalent to one thousand football fields every forty
minutes—about the duration of a normal classroom period. In the face of the frequent and often vivid media
coverage, it is likely that children will have formed ideas about rainforests—what and where they are, why
they are important, what endangers them—independent of any formal tuition. It is also possible that some

of these ideas will be mistaken.

Many studies have shown that children harbour misconceptions about “pure”, curriculum science. These
misconceptions do not remain isolated but become incorporated into a multifaceted, but organised, conceptual
framework, making it and the component ideas, some of which are erroneous, more robust but also accessible
to modification. These ideas may be developed by children absorbing ideas through the popular media.
Sometimes this information may be erroneous. It seems schools may not be providing an opportunity for

children to re-express their ideas and so have them tested and refined by teachers and their peers.
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Despite the extensive coverage in the popular media of the destruction of rainforests, little formal
information is available about children’s ideas in this area. The aim of the present study is to start to provide
such information, to help teachers design their educational strategies to build upon correct ideas and to

displace misconceptions and to plan programmes in environmental studies in their schools.

The study surveys children’s scientific knowledge and attitudes to rainforests. Secondary school
children were asked to complete a questionnaire containing five open-form questions. The most frequent
responses to the first question were descriptions which are self-evident from the term “rainforest”. Some
children described them as damp, wet or hot. The second question concerned the geographical location of
rainforests. The commonest responses were continents or countries: Africa (given by 43% of children),
South America (30%), Brazil (25%). Some children also gave more general locations, such as being near

the Equator.

Responses to question three concerned the importance of rainforests. The dominant idea, raised
by 64% of the pupils, was that rainforests provide animals with habitats. Fewer students responded that
rainforests provide plant habitats, and even fewer mentioned the indigenous populations of rainforests.

More girls (70%) than boys (60%) raised the idea of rainforest as animal habitats.

Similarly, but at a lower level, more girls (13%) than boys (5%) said that rainforests provided human
habitats. These observations are generally consistent with our previous studies of pupils’ views about the
use and conservation of rainforests, in which girls were shown to be more sympathetic to animals and

expressed views which seem to place an intrinsic value on non-human animal life.

The fourth question concerned the causes of the destruction of rainforests. Perhaps encouragingly,
more than half of the pupils (59%) identified that it is human activities which are destroying rainforests,
some personalising the responsibility by the use of terms such as “we are”. About 18% of the pupils referred

specifically to logging activity.

One misconception, expressed by some 10% of the pupils, was that acid rain is responsible for
rainforest destruction; a similar proportion said that pollution is destroying rainforests. Here, children are
confusing rainforest destruction with damage to the forests of Western Europe by these factors. While
two fifths of the students provided the information that the rainforests provide oxygen, in some cases this
response also embraced the misconception that rainforest destruction would reduce atmospheric oxygen,

making the atmospheric incompatible with human life on Earth.

In answer to the final question about the importance of rainforest conservation, the majority of children

simply said that we need rainforests to survive. Only a few of the pupils (6%) mentioned that rainforest
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destruction may contribute to global warming. This is surprising considering the high level of media coverage

on this issue. Some children expressed the idea that the conservation of rainforests is not important.

The results of this study suggest that certain ideas predominate in the thinking of children about
rainforests. Pupils’ responses indicate some misconceptions in basic scientific knowledge of rainforests’
ecosystems such as their ideas about rainforests as habitats for animals, paints and humans and the

relationship between climatic change and destruction of rainforests.

Pupils did not volunteer ideas that suggested that they appreciated the complexity of causes of
rainforest destruction. In other words, they gave no indication of an appreciation of either the range of ways
in which rainforests are important or the complex social, economic and political factors which drive the
activities which are destroying the rainforests. One encouragement is that the results of similar studies about
other environmental issues suggest that older children seem to acquire the ability to appreciate, value and
evaluate conflicting views. Environmental education offers an arena in which these skills can be developed,

which is essential for these children as future decision-makers.

Questions 1-8

Do the following statements agree with the information given in Reading Passage 17

In boxes 1-8 on your answer sheet, write

TRUE if the statement agrees with the information
FALSE if the statement contradicts the information
NOT GIVEN if there is no information on this

1 The plight of the rainforests has largely been ignored by the media.
2 Children only accept opinions on rainforests that they encounter in their classrooms.

3 It has been suggested that children hold mistaken views about the “pure” science that they study at

school.

4 The fact that children’s ideas about science form part of a larger framework of ideas means that it is
easier to change them.

5 The study involved asking children a number of yes/no questions such as “Are there any rainforests in
Africa?”

6 Girls are more likely than boys to hold mistaken views about the rainforests’ destruction.

7 The study reported here follows on from a series of studies that have looked at children’s understanding

of rainforests.

8 A second study has been planned to investigate primary school children’s ideas about rainforests.
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Questions 9-13

The box below gives a list of responses AP to the questionnaire discussed in Reading Passage 1.

Answer the following questions by choosing the correct responses A—P.

Write your answers in boxes 9—13 on your answer sheet.

10

11

12

13

What was the children’s most frequent response when asked where the rainforests were?
What was the most common response to the question about the importance of the rainforests?
What did most children give as the reason for the loss of the rainforests?

Why did most children think it important for the rainforests to be protected?

Which of the responses is cited as unexpectedly uncommon, given the amount of time spent on the

issue by the newspapers and television?

=
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There is a complicated combination of reasons for the loss of the rainforests.

The rainforests are being destroyed by the same things that are destroying the forests of Western

Europe.

Rainforests are located near the Equator.

Brazil is home to the rainforests.

Without rainforests some animals would have nowhere to live.
Rainforests are important habitats for a lot of plants.

People are responsible for the loss of the rainforests.

The rainforests are a source of oxygen.

Rainforests are of consequence for a number of different reasons.
As the rainforests are destroyed, the world gets warmer.
Without rainforests there would not be enough oxygen in the air.
There are people for whom the rainforests are home.

Rainforests are found in Africa.

Rainforests are not really important to human life.

The destruction of the rainforests is the direct result of logging activity.

Humans depend on the rainforests for their continuing existence.

Question 14

Choose the correct letter A, B, C, D, or E.

Write your answer in box 14 on your answer sheet.

Which of the following is the most suitable title of Reading Passage 1?
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The development of a programme in environmental studies within a science curriculum

Children’s ideas about the rainforests and the implications for course design

A
B
C  The extent to which children had been misled by the media concerning the rainforests
D How to collect, collate and describe the ideas of secondary school children

E

The importance of the rainforests and the reasons for their destruction
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